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B ECEIIREIIIEFEANEILL),

@ 300000g = 300 kg
@ 10500g =| 10kg 500 g
@ 104000g = 104 kg
@ 90kg = | 90000 g

® 19900g = | 19 kg 900 g
® 60000g = 60 kg

@ 550009 = 55 kg
94kg = | 94000 g

@ lkg lg = 1001 g
9090g =| 9 kg 90 g
@ 4kg 360g = 4360 g
@ 66kg 100g =| 66100 g

/24

® 110000g = 110 kg
@ 6kg 70g = 6070 g
® 1570g =| | kg 570 g
|70kg = | 170000 g

@ 8kg =| 8000 g

|0kg 200g =| 10200 g
4200g =| 4 kg 200 g
@ Ikg 500g = 1500 g
@ 1 1kg 800g = 11800 g
@ 2kg7g = 2007 g

@ 190009 = 19 kg
@ I2kg =| 12000 g




